
𝑚 = !!"!"
#!"#"

    𝑦 = 𝑚𝑥 + 𝑏   𝑦 − 𝑦$ = 𝑚(𝑥 − 𝑥$) 

 
%
%#
𝑐 = 0    %

%#
𝑥& = 𝑘 ∙ 𝑥&"$ 

%
%#
𝑒# = 𝑒#    %

%#
ln 𝑥 = $

#
 

%
%#
𝑎# = 𝑎# ln 𝑎   %

%#
𝑙𝑜𝑔' 𝑥 =

$
#
∙ $
() '

 

 

𝑑
𝑑𝑥
[𝑐 ∙ 𝑓(𝑥)] = 𝑐 ∙

𝑑
𝑑𝑥 𝑓(𝑥) 

𝑑
𝑑𝑥
[𝑓(𝑥) ± 𝑔(𝑥)] =

𝑑
𝑑𝑥 𝑓(𝑥) ±

𝑑
𝑑𝑥 𝑔(𝑥) 

𝑑
𝑑𝑥
[𝑓(𝑥) ∙ 𝑔(𝑥)] = 𝑓(𝑥) ∙ 𝑔*(𝑥) + 𝑔(𝑥) ∙ 𝑓′(𝑥) 

𝑑
𝑑𝑥 ;

𝑓(𝑥)
𝑔(𝑥)< =

𝑔(𝑥) ∙ 𝑓*(𝑥) − 𝑓(𝑥) ∙ 𝑔′(𝑥)
[𝑔(𝑥)]+  

𝑑
𝑑𝑥
[𝑓(𝑔(𝑥))] = 𝑓′(𝑔(𝑥)) ∙ 𝑔′(𝑥) 

𝑑
𝑑𝑥
[𝑔(𝑥)]& = 𝑘[𝑔(𝑥)]&"$ ∙ 𝑔′(𝑥) 

 

∫𝑘 𝑑𝑥 = 𝑘𝑥 + 𝐶   ∫𝑥, 𝑑𝑥 = $
,-$

𝑥,-$ + 𝐶 

∫ $
#
𝑑𝑥 = ln|𝑥| + 𝐶    ∫ 𝑒'# 𝑑𝑥 = $

'
𝑒'# + 𝐶 

 

𝐸(𝑥) =
−𝑥 ∙ 𝐷′(𝑥)
𝐷(𝑥)  

B 𝐷(𝑥)𝑑𝑥 − 𝑄𝑃
.

/
 

𝑄𝑃 − B 𝑆(𝑥)𝑑𝑥
.

/
 

 
 
 
 


